6.6 General Form of the Equation for a Linear Function

General Form of the Equation of a Linear Relation '
Ax+By+C=0 o fr .
is the general form of the equation of a line, N f ms .
where A is a whole, positive number, and B and C are integers.
AN

0 3e+ rid of frachons z:?w

Example;: Write each equation in general form. mu_H-.'P'g] nﬂ by denomul
Cl);}-' =E§ X+ 4) b]‘tyt(i ot 3) @ mm 0." ‘|el'm5' h
one side so “¥"

+erm s posi‘h'ue .

3y = s(-_;-.x) + 3(%) = 4(4¥) + 46)

3}] = -2x +12

o t2x =11 4y = x + 12
-2 ~Hy *'43
<) _l-’+2:§[x—4) d) y—l=%{x+2)

5(y-1) = &[é(xn)]

R

2(yt2) = % [%\(1-4 )]

o R
z@) = 3(X-Y4) 30t)

53-—5 A3 +b

2y +4 = 3y-12
"55-*5 "Scj +5

-ztj ~Y4 "‘Zj -4
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Example 2: Graph the line whose equationis 3x+2y—-18=0by
line.

Determine the x - intercept:

finding the x - and y - intercepts of the

| T - — | -

w\/tv—.) x-va'u wmn

3w + 2(0) -18 =0 g=o
3x-18 =0 3x =18 i
+18 +8 3 3 (X=b i
Determine the y - intercept: -
S y-valwe when T
Y val A :
30) +2y-18 =0 -

2y-18=0 =18 -
+18 +I18 y 2 @

Example 3: Determine the slope of a line with the equation: 3x

—2y-16=0

3;:.-25- b =0
-3x t+lb =3y +lbL

-23 = ~3x +1b
-2 -2 -2

Y

2x-8
2

Ly must rewrite In
slope - 3n+erc¢p+ form
( y = mxX—+b)

Standard Form

Ax + By C

General Form

Ax + By'l'C =0

Slope-Intercept Form

my+b

-
-

Y

Slope-Point Form

M(\(,’)(l )

-
-

4-Y

Practice: p‘584 #4-8,12-14,18
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